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| #k(a) *EFR) (111/8-12 %)
1 | s1022m? | 12 | 27 3|6 1|3 13|17 39 16| 17 1 78 333,000 100,000
2 | 311w mY | 38 | 84 6|18 1|3 1|3 | 46 | 108 45| 46 1 216 922,000 245,000
3 | s12mm me | 48 | 106 3|7(3|9|2]6 3|9 |59 | 137 57| 59 2 274 1,170,000 325,000
4 313p = B¢ 18 40 3|7 2|6 23 53 23 23 0 106 452,000 115,000
5 | 315% +km ¢ 9 20 1|3 2 |a| 12 27 1| 12 1 54 230,000 75,000
6 | 316armme | 10 | 22 12 12| 12 26 1| 12 1 52 222,000 75,000
7 | st eme |23 | st 3|8 4926|232 74 32| 32 0 148 632,000 160,000
8 3181t =R ¢ 9 20 3 (73|09 1|31 16 39 16 16 0 78 333,000 80,000
9 320% % B ¥ 8 18 113 9 21 9 9 0 42 45,000
10 321 feoF ¢ 4 8 1 4 1|3 5 12 3 5 5 0 6 25,000
11 322& 2R 6 14 6 14 6 6 0 28 30,000
12 | 3255 4m@? | 10 | 22 13 13| 12 28 1| 12 1 56 75,000
13 3269 % B¢ 3 6 1 4 3 7 0 3 3 0 0 15,000
14 | 214 R~ 6 13| 1| 4]3]8 1|3 10 25| 11| 10| 10 0 22 50,000
15 328% R ¥ 3 6 1 4 3 7 0 3 3 0 0 15,000
16 | 3295448 ¢ 6 B 1]|a|3]|7 12 12| 1 25| 11| 10| 11 1 22 70,000
17 | 330= x W+ 3 6 1| 4]3]7 6 14| 7 6 6 0 14 30,000
18 | 33222 m¢ | 16 | 36 3|7 13 13|21 49 20| 21 1 98 120,000
19 | 3332 4 R * 3 6 1| 4 101 4 8| 1 4 4 0 2 20,000
20 | 334% AR 3 6 1| 4 1)1 4 8| 1 4 4 0 2 20,000
21 | 335% 2 H* 4 8 1| 4 1|3 5 12| 3 4 5 1 6 40,000
22 | 336 A 3 6 1| 4 1|1 4 8| 1 4 4 0 2 20,000
23 3374 2 B¢ 3 8 1 0 3 9 3 3 0 18 15,000
24 | 3383 ¢ 8 | 4 11 0 4 1] o0 4 4 0 0 20,000
B* (3422440 k3 | 252 | 557 | 11 | 40 |27 |64 |12 (36 |10 [28 | 8 |15 [18 |50 | 327 | 761| 38| 317| 327| 10 o 1324 4,294,000 1,785,000
%5 | 601mam ) | 12 | 20 12 13 2| 2| 12| 13 1 0 4 80,000
26 | 602m #m] | 45 | 77 12 | 24 12|58 | 103| 26| 58| 58 o| 12| 76 290,000
27 | 603m &R | 20 | 35 12| 21 37| 2| 2| 21 0 0 4 105,000
28 | 604m Eem ] | 12 | 21 2 |3 |1f2]1|2]16 28| 7| 14| 16 2 ol 14 110,000
29 | 605¢ = W | 37 | 63 1|2 |2]4] 4 69| 6| 40| 40 0 of 12 200,000
30 | 606% %K) | 6 9 1 6 0| o0 6 6 0 0 0 30,000
31 | 6074 | 6 | 10 | 1 6 1] o0 6 6 0 0 0 30,000
32 | 608¢ =R | 12 | 21 2 | 4 14 25| 4| 14| 14 0 2| 12 70,000
33 | 6092 %m ] | 20 | 35 20 35| 0| 20| 20 0 0 0 100,000
34 | 6108 | 6 9 1 6 0| o0 6 6 0 0 0 30,000
35 | 6114 @/ | 22 | 37 2 (4afl1|2]2s 43| 6| 25| 25 0 of 12 125,000
36 | 612mimm 1 | 6 | 9 |1 6 | 10 of e 6] of of o 30,000
37 | 613s7 | | 12 | 2L 12 12| 14 5| 4| 13| 14 1 0 8 85,000
38 6144 4 B} 18 30 12| 19 32 2 19 19 0 0 4 95,000
39 | 6152 %m| | 6 9 1 6 10| o0 6 6 0 0 0 30,000
40 | 616&2®- ] | 6 | 10 | 1 6 1] o0 6 6 0 0 0 30,000
41 | 617E=xm ) | 15 | 26 2 | 4| 17 0| 4| 17| 17 0 0 8 85,000
42 | 618z & ®) | 338 | 57 3|6 |3|6] 3 69| 12| 39| 39 0 ol 24 195,000
43 | 61914 5 W) | 31 | 53 2 (4| 33 57| 4| 33| 33 0 0 8 165,000
44 | 620k =R | 6 9 1 6 0] o0 6 6 0 0 0 30,000
45 | 621484 B | 12 | 22 12 13 24| 2| 12| 13 1 0 4 80,000
16 | 6223 #m| | 6 9 1 6 0] o0 6 6 0 0 0 30,000
47 | 623 =@ | 12 | 21 1 (2| 13 23| 2| 13| 13 0 0 4 65,000
48 | 624« 5 R | 18 | 22 12 12115 26| 4| 14| 15 1 0 8 90,000
49 | 625 fem ] | 6 | 10 | 1 | 1 6 1] o0 6 6 0 0 0 30,000
50 | 626&%m. | 7 | 11 |1 12 8 14| 2 8 8 0 0 4 40,000
51 | 627%sm ) | 6 9 1|2 6 10| o0 6 6 0 0 0 30,000
52 | 628% g | 7 | 12 | 1|2 7 12| o0 7 7 0 0 0 35,000
53 | 6292 & m ) | 7 | 11 | 1 1021 8 14| 2 8 8 0 0 4 40,000
54 6307 & B 6 9 1 6 10 0 6 6 0 0 0 30,000
55 | 631-kzapm. | | 6 9 1 6 10| o0 6 6 0 0 0 30,000
56 | 632 @] | 5 8 1 5 9| o 5 5 0 0 0 25,000
57 | 633y k@) | 10 | 17 102 |1]2 12 21| 4| 11| 12 1 0 8 75,000
58 | 634x %@ | 6 | 10 [ 1|1 6 1] o0 6 6 0 0 0 30,000
59 | 635+ @] | 6 9 1 6 10| o0 6 6 0 0 0 30,000
60 | 636Egm L | 6 | o |1 6 0] of e s of o 0 30,000
61 | 6384 +km-| | 6 9 1 6 10| o0 6 6 0 0 0 30,000
62 639% i= || 6 10 1 1 6 11 0 6 6 0 0 0 30,000
63 | 64lkmm® | | 6 | 10 | 1|1 12 7 13 2 7 7 0 0 4 35,000
64 |642+ = 2@ | 6 | 10 [ 1 | 1 6 1] o0 6 6 0 0 0 30,000
65 | 645% @] | 6 9 1|2 6 10| o0 6 6 0 0 0 30,000
66 | 647maqmm) | 12 | 22 1 12|12 14 26| 4| 13| 14 1 0 8 85,000
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| #k(a) *EFR) (111/8-12 %)
67 | 648552 ® - | 6 0 |1 |1 6 1| o0 6 6 0 0 0 30,000
68 | 649K B | 6 0 |1 6 1| 0 6 6 0 0 0 30,000
69 | 650 @m - | 5 8 1 5 9| o 5 5 0 0 0 25,000
70 | 6512 2R | 5 9 1 5 10| 0 5 5 0 0 0 25,000
71 | 652% mE | 6 0 |1 |1 6 1| o0 6 6 0 0 0 30,000
72 | 653 AR | 6 0 |1 |1 6 1| 0 6 6 0 0 0 30,000
73 | 654 R | 6 9 1|2 12 7 12 2 7 7 0 0 4 35,000
74 | 655 v W] 3 4 1 3 5 0 3 3 0 0 0 15,000
75 | 656#F i M| 6 10 1 6 11 0 6 6 0 0 0 30,000
76 | 65TATALR | 6 9 1 6 10| o0 6 6 0 0 0 30,000
77 | 6582 2 | 13 | 24 1 24|36 |1|2]19 36| 12| 17| 19 2 ol 24 125,000
78 | 659mB R | 6 0 |1 |1 6 1| 0 6 6 0 0 0 30,000
79 | 660 ER® | 6 11 |1 |1 6 12| o0 6 6 0 0 0 30,000
80 | 66lpz M- | 6 9 1 6 10| 0 6 6 0 0 0 30,000
81 | 662= 3@ | 6 9 1|2 6 10| o0 6 6 0 0 0 30,000
82 | 663% p B/ 6 9 1 2 6 10 0 6 6 0 0 0 30,000
83 | 66417 m-| | 6 9 1 6 10| 0 6 6 0 0 0 30,000
84 | 665¢ B ®| | 13 | 23 1 13 23| 0| 13| 13 0 0 0 65,000
85 | 666% 2m-| | 6 9 1 6 10| o0 6 6 0 0 0 30,000
86 667+ 4 B 6 10 1 1 6 11 0 6 6 0 0 0 30,000
87 | 668> B | 6 10 |1 |1 6 1| o0 6 6 0 0 0 30,000
88 | 669% M- | 6 9 1 6 10| 0 6 6 0 0 0 30,000
89 | 6705 2/ | 6 9 1|2 1|2 |1]2 8 14| 4 7 8 1 0 8 55,000
90 | 6719 ® &) 6 9 1 6 10 0 6 6 0 0 0 30,000
91 | 672x®R - | 6 9 1 6 10| o0 6 6 0 0 0 30,000
92 | 6738w B | 6 9 1 6 10| o 6 6 0 0 0 30,000
93 | 674k w R | 6 9 1|2 6 10| o0 6 6 0 0 0 30,000
94 | 6754 2 W) 6 10 1 6 11 0 6 6 0 0 0 30,000
95 | 676m 2 ® | 6 9 1 6 10| 0 6 6 0 0 0 30,000
96 | 678% iR | 6 0 |11 6 1| o0 6 6 0 0 0 30,000
97 | 679% kW | 6 9 1|2 1|2 7 12 2 7 7 0 0 4 35,000
98 | 680% £ R | 6 9 1|2 6 10| 0 6 6 0 0 0 30,000
99 | 6814-T R | 6 9 1|2 12 7 2] 2 7 7 0 0 4 35,000
100 | 682 2@ | 6 9 1 6 10| o 6 6 0 0 0 30,000
101 | 6834k - | 6 9 1|2 6 10| 0 6 6 0 0 0 30,000
102 | 684-kHmM- | 6 9 1 6 10| 0 6 6 0 0 0 30,000
103 | 68524 @ | 6 9 1|2 6 10| 0 6 6 0 0 0 30,000
104 | 686% fF & 6 11 1 6 12 0 6 6 0 0 0 30,000
105 | 6878 £®m | | 6 9 1 1|27 2] 2 7 7 0 0 4 35,000
106 | 688= & | 6 10 1 1 6 11 0 6 6 0 0 0 30,000
107 | 6894w @ | 6 10|11 6 11| o0 6 6 0 0 0 30,000
108 | 6907 % m- | 6 9 1|2 4|7 10 17| 7| 10| 10 0 ol 14 50,000
109 | 691 4@ | 6 10|11 6 11| o0 6 6 0 0 0 30,000
110 | 6920 s R | 6 0 |1 |1 6 1| o0 6 6 0 0 0 30,000
111 | 69352 | 6 10 |1 |1 6 11| o0 6 6 0 0 0 30,000
112 | 6948 m- | | 6 0 |11 6 1| o0 6 6 0 0 0 30,000
113 | 6950 fIm- | 6 1011 6 1| o0 6 6 0 0 0 30,000
114 | 6964 ;%R | 6 9 | 1] 2 6 0 o 6 6| © 0 0 30,000
115 | 697# L@ | 6 10 |1 |1 6 11| o0 6 6 0 0 0 30,000
116 | 698+ T m- | 6 1|1 |1 6 12| 0 6 6 0 0 0 30,000
117 | 6995 # @ | 6 9 1 6 10| o0 6 6 0 0 0 30,000
118 | 700wk B | 6 0 |1 |1 6 1| 0 6 6 0 0 0 30,000
119 | 7012 L® | 6 10 |1 |1 6 11| o0 6 6 0 0 0 30,000
120 | 7024 = m- | 6 0 |1 |1 6 1| o0 6 6 0 0 0 30,000
121 | 703448 ®- | 6 9 1 6 10| 0 6 6 0 0 0 30,000
122 | 7056 5 @ | 6 9 1 6 10| o0 6 6 0 0 0 30,000
123 | 706+x=® - | 6 9 1 6 10| 0 6 6 0 0 0 30,000
124 | 707¢ m@ ) | 12 | 22 4|8 |2]4 1|2 19 36| 14| 17| 19 2 4] 36 125,000
125 | 7086 w W | 6 0 |1 |1 6 1| o 6 6 0 0 0 30,000
Bl (1014) & 3+ 863 (1423 | 80| 61| 2| 4| 16| 32| 13| 25| 21| 41| 22| 44| 9371649 | 146| 924| 937| 13| 18| 328 0 4,880,000
2= (125%) &3 |1,115|1980 | 91| 101| 29| 68| 28| 68| 23| 53| 29| 56 | 40| 94 |1,264 | 2,410 | 184 |1,241 (1,264 | 23| 181,652 4,294,000 6,665,000
126 | %2 @ 2% 9 18 9 18 18 9 0 36
127 2AE Y R 21 46 21 46 46 21 0 92
128 ER - RN 18 30 18 30 30 18 0 18 96 836,000
129 | ##m]2x | 23 | 38 1|2 24 40 40| 25 0| 23] 126 1,100,000
o2 (4R) 3 71| 132 o| o of of o| of of o| of o 1| 2| 72| 134| of 134| 73 o 41| 350 1,936,000 0
& 3 (129%) 1,186 | 2,112 | 91| 101 29| 68| 28| 68| 23| 53| 29| 56| 41| 961,336 | 2,544 | 184 (1,375 (1,337 [ 23| 592,002 6,230,000 6,665,000
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